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36-9Xx3+48+38

@ 36-9

@ 48 =8

@ 9x%x3 ® 3+48

®3 36-S8
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104-55+16=] |+16=] |
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6+2x17

® 6x17 @ 6+17 ® 6+2

@ 2%17 B 2=-17
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® 72+6x%x3

@ 3x(45=+9)
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@ 80+ (5x2)

® 5x (18 +3)
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300 = (50 — 20) — 10
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21 x 13 =273, 273 + 15 = 288,

288+32=9

@® {(21x13)+15}+32=19

® (21% (13+15) =32} =9

® 21x {13+ (15+32)} =9

@ 21 x {(13 + 15)

@ {(21x13)+15+32} =9

+32}=9
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7+ 8 =15, 15 x 59 = 885,
885 — 57 = 828, 828 +46 =18

@ {7+ (8x59)-57}+46 = 18
@ {(7+8)x59-57) +46 = 18
@ {7+8x (59 -57)} +46 = 18
@ 7+{8x(59-57)}+46 =18

® 7T+8x{(59—-57)+46) = 18
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131 4+8x2-109 = 38

@ 131+ (8x2) - 109 = 38
@ 1314 (8x2-109) = 38
® (131+8)x2-109 = 38
@ (131 +8) x (2-109) = 38

® 131+8x(2-109) =38



